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Ch 2 Practice Test: Earning an Income

Multiple Choice
Identify the choice that best completes the statement or answers the question.

@’ 1. Nadia receives an annual salary of $34000.00. What is her average monthly income? w0 * & 2823.3%

2. $680.00 @) ss333 § 8400000
b. $1307.69 4. $70833 e 12 :

% 2. Jung receives an annual salary of $37000.00. What is his average biweekly income?
2 =42 2.08 Levery 2 weeks
a. $711.54  31000.00 = = c. $77083 B2 weeks /year
{b.) $1423. - . 40. .
3 08 2z ' d. $740.00 ba<2=2b pay periodg

d 3. Katarina earns $14.60/hour for regular hours of work. She is paid time and a half for overtime work. What is

her overtime rate of pay? %
a. $9.73 . $25.55
b. $18.25 ) $21.90 & #

4.0 +-1.30 =421.90
d 4, Chandra works on the assembly line at a car manufacturing plant. He receives a wage of $19.06/hour for
hours worked Monday to Friday. On the weekends he earns time and a half.

Chandra works Wednesday to Sunday, for 6 hours a day. Calculate his weekly earnings. oz px2 =18

Sot 4 Sun *12hvg . Sab/Supn nedd en
a. $857.70 S . c. $743.34 =11w28.5Y =12 v 400
b. $571.80 ﬁm 5= Hirw ¥ h@&ﬁw $686.16  =f3y3.0¢ ,ﬁgt{ 2.08
149 Ll =2 2958 ) ‘ﬁ-@@‘\’%.gg : 8‘5'% ) %%%,Q% +5“’{3‘9?$& @,gw
€4 5. Victor works as an office assistant for a large paper manufacturing company. He earns a salary ow%

$29250.00/year. How much more will he receive per paycheque if he chooses to be paid semi-monthly

instead of biweekly? Sem},mm%ﬁy b;wﬁ«eu\{ 12.18.1%
W «f ng?’, & - e k%zﬁ«ﬁ@
(& $93.75 | Zmote ¥ 2 e s 925220 —%3 3¢
b, $8438 292%b T 247 121875 4 $187.50 292052 = W2 (17

5 6. Ricardo earns a commission on all the sales he makes for A+ Computers. If he makes sales totalling $1450.00
one week and takes home $170.00, what is his rate of commission?

116.00 .
a.  14% . 53% e o] o = LT
b. 10.7% (d) 11.7% |450.%

. Claude is a brick layer. He is paid $9.00 for every full pallet of bricks that he lays in a day. He does not
receive payment for any parts of pallets. A single pallet holds 20 bricks. If Claude lays 230 bricks in one day,
how much will he earn?

a $129.00 ¢ $9.00 230 +20 = 1.5 ful patlels

$99.00 d $104.00 b mm
i\ %@%.m = $gq.0
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% 8. Monica has taken a new job in the Northwest Territories. Her annual salary is $52500.00. She received a
travel allowance to help her move from Alberta and visit her family for the holidays. If her allowance is 7%

\ 0 ‘
of her salary, how much will she earn that year” 1/ of £2¢0m- 5%
a. $67410.00 . $39322500 ©:¢1 ¥ 5259 = 21¢

@ $56175.00 d $393225  B2ST0.00+ 261500 25| (¢ .00

b 9. Jessica waits tables as a part-time job and earns $9.80/hour. She works 4 shifts of 6 hours each in a week. On
average, her total sales were $705.00 per night. If all her customers left a 17% tip, how much did she earn

that week? A 177. o Mo . 0 4

‘ m‘i e TG i 1P
a  $571.68 c. $857.52 pe
‘b $714.60 d. $89325 Y swlis x bl = 2Yhrs i

24 ¥ q.80:°235.°0

{_ 10. Krista receives isolation pay for working as a park ranger in Aulavik National Park on Banks Island in the
Northwest Territories. If she is on the job for more than 4 weeks at a time, she receives $1000.00/week for
each additional week in isolation pay.

If Krista works 3 times in Aulavik for 16 weeks, 2 weeks, and 17 weeks, how much iiglmam will she

receive? W Y= 12 weds [1-4 = 13 wWeeks
L = 7
a. $2300000 @) $25000.00 n2ezs |
b. $35000.00 d.  $33000.00 2S5 weeks » 1000 =251000

Q, 11. Jason works as a customer service representative for a credit union. At the end of every year, employees
receive a performance evaluation. Jason receives a bonus of 2.8% of his salary if he has a satisfactory
evaluation. If Jason earns a salary of $44700.00/year, how much will his bonus be, assuming he has a good

evaluation? 2.8/ of Yyioo.wo
$1251.60 . $45951.60 0.02% x M4Tew =12%1.60
b.  $43448.40 d. $1501.92

éi‘% 12. Lysanne works for a shipping company. At the end of every year, employees receive a performance
evaluation. Lysanne receives a bonus of 4.1% on her salary if she has a satisfactory evaluation. If Lysanne
earns a salary of $38250.00/year, how much will she earn in one year including her bonus, assuming she is

iven a good evaluation?
gvenag Y.1/. of 3&25D

a $1568.25 c. $36681.75 o.0Udl ¥ 28250 = § 1SR, 25

b, $47781.90 @ $39818.25 8 |Se815 + 38250.% F 9 NELE

O\ 13. Bayani has a gross biweekly income of $1100.00. His net biweekly income is $847.35. What percentage of
his gross income goes to deductions?

(a) 2% . 7% _ ”m;f; 252.bS
b, 30% d  15% P @.?}g
22 L% heo.
0.23¥t0=>137
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{y 14, Ifyour CPP contribution rate is 4.95% and your salary is $1235.00 every two weeks, how much will be

deducted from your paycheque for CPP? Y.4C of 123<
a. $611.33 @) $61.13 g,@%w 123€
b. $122.27 d. $611 iz

b 15. Ines has a biweekly gross income of $2103.12. Her before-tax deductions include a short-term disability
premium of 0.6%, union dues of 2.5%, and a pension deduction of 3.5%. What is her taxable income?

bt 25 +25b.bb

a. $1867.59 ST c. $1899.03 e
(B $196431 «»rm’f;u ot 4 $200345 b/ oF¥210342
6.6bb ¥ 216312
Short Answer \l' = %12%.9)

Ne¥t

1. Mandeep works as a personal trainer. He charges $38.00 for a 1-hour session and $53.20 for a 90-minute
session. Mandeep ran the following personal-training sessions last week. Calculate his earnings for the week.

Day 1-hour sessions 90-minute sessions
Monday 1 2
Tuesday 2 0
Thursday 1 4
Friday 2 2
Saturday 5 2

% 10
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ID: A

2. Use Kristah!l’s time card to calculate how many hours she worked this week.

Time card: Kristahl

Day In Out Hours

Monday 8:15 6:00 94 Yt

Tuesday 7:00 4:30 q 3t

Wednesday 9:15 3:00 §. 4y

Thursday 8:45 4:15 T 20

Friday 10:00 6:15 + B.15

Problem

1.

br min  owviz | hae

. Georgia’s gross pay is $1300.00 every 2 weeks. She pays $42.12 for union dues. What percentage of her pay

goes to this deduction? Y212

Ve 20,0324 (m =3 247,

Marie picked 6 litres of strawberries and was paid $36.36.

un rake
a) How much is she paid for each litre of berries she picks?

» 8
bzt L2 S o

ey b %

b) How much will she make if she picks 10.5 litres of strawberries?

@ﬁ%"’@’f‘i 0.5 . ,_,15.;?.;@ ﬁ%{\g%
T 363k
§ . 3

i = ¢ ﬁ
0S5 ldves X 606/ itve = b2 b3




Name:

2. Kamran is offered isolation pay for a 4-week job in northern Saskatchewan. His regular salary is

$865.00/week. He can choose one of the following payment methods:
» one lump sum of $1100.00 after he has completed the job, or
» payments of 30% of his weekly salary added to each of his 4 paycheques while he is on the job.

With which payment option will Kamran earn more money?

/. @-@3%8%%’.@@
630 ¥ %bS.00 7 258 S0

4
259 .50« Y= 1032 .w
viks

Komran will make move money
h‘s[ WV\% gmﬁ W G twmng S o

. Howard has a net income of $1825.00. He pays the following deductions:

Before-Tax Deductions Facoss —~a y
Union Dues | $62.05 SN P
Taxes ‘E/
Federal $234.68 Wcome Tay
Provincial $87.43
CPP $113.89 % =~ \}/
EI $39.80 Net P&y
a) What is Howard’s taxable income?
#"”’@%@m%
22443 g - g
YASE B b AN {o] .8
o 1825 o[- 2306.80 |
113 .89 I
49T .80
b) What are Howard’s federal and provincial tax rates?
Fedecal © Provineaial
234. 6% M3 T e
— * 0.1028j0_ ® = 0.0%% *iw Z.:: 387/ |
2300.%0 = =~ 2300.80 —

¢) What is Howard’s gross income?

220 - RO
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4. Inaya works 40 hours a week and earns an hourly wage of $13.07. Use the tables below to calculate her net
weekly pay. She is assigned claim code 1.

Federaltax deductions
ective January 1, 2010
Weekly (52 pay periods a year)

Also look up the tax deductions in the provincial table
éPay ey Federal claim codes
0 J(1J3[ 2 [ 3 T 4 ] 5 | & [ 7 | 8 [ 9 [ 10
From — Less Than Deduct from each pay
460 - 464 62.15| 3220 | 29.35| 23.60| 17.90| 12.15 6.45 0.70
464 - 468 62.70 1 32.75| 29.90| 24.15| 1845] 12.70 7.00 1.25
468 - 472 63.25 | 33.30| 30.45| 2475} 19.00| 13.30 7.55 1.85
472 - 476 63.80| 33.85| 31.00| 25.30| 19.55| 13.85 8.10 2.40
476 - 480 64.40| 34.45| 3155 | 25.85| 20.10 ]| 14.40 8.70 2.95
480 - 484 64.95| 35.00| 3215 26.40| 20.70 | 14.95 9.25 3.50
484 - 488 65.50 | 35.55| 32.70| 2695 21.25| 15.50 9.80 4.05
488 - 492 66.05| 36.10| 33.25| 27.55| 21.80| 16.10| 10.35 465
492 - 496 66.60 | 36.65] 33.80| 28.10| 22.35| 16.65| 10.90 5.20
496 - 500 67.20 | 37.25| 34.35| 28.65| 2290 | 17.20 ] 11.50 5.75 0.05
500 - 504 67.75{ 37.80| 34.95| 29.20| 2350 17.75| 12.05 6.30 0.60
504 - 508 68.30 | 38.35| 3550 | 29.75| 24.05| 18.30| 12.60 6.85 1.15
508 - 512 68.85| 38.90| 36.05| 30.35| 2460| 1890 | 13.15 7.45 1.70
512 - 516 69.40| 3945 36.60| 30.90| 25.15| 1945 13.70 8.00 225
516 - 520 70.00 | 40.05| 37.15| 31.45]| 25.70 | 20.00} 14.30 8.55 2.85
520 - 524 ) === c 0.604 37.75| 32.00{ 26.30| 20.55| 14.85 9.10 3.40
524 -5 7110 41T15| 38.30| 3255| 26.85| 21.10| 15.40 9.65 3.95
528 - 532 7165 41.70| 38.85| 33.10| 2740 21.70| 1595| 10.25 4.50
532 - 536 72201 4225| 39.40| 33.70| 2795| 22.25| 16.50| 10.80 5.05
536 - 540 72.80| 42.85| 39.95| 34.25| 2850} 2280 | 17.10] 11.35 5.65

Manitoba fprovincial tax deductions
Effective Janu :
Weekly (52 pay periods a year)

Also look up the tax deductions in the federal table

Pay Provincial claim codes
0 | 1 | 2 | 3 [ 4 [ 5 [ 6 [ 7 ] 8 1 98 | 10

From — Less Than Deduct from each pay
493 - 501 50451 3355 31.80| 28.30| 24.75] 21.25| 17.75| 1420} 10.70|7.20 3.65
501 - 509 5125| 34.35| 32.60| 29.10| 2555} 22.05| 18.55| 15.00( 11.50|8.00 445
- 52.05| 351 3340 29.90| 26.40| 22.85| 19.35| 15.85| 1230 8.80 5.30
%51 7 - 525 652 6.00,] 3420 | 30.70| 27.20| 23.65| 20.15| 16.65| 13.10 | 9.60 6.10
525 - 533 53.70 0| 35.00| 31.650| 28.00] 2445| 20.95| 1745] 13.95]1040 [6.90

Tables courtesy Canada Revenue Agency. Reproduced with permission of the minister of Public Works and Government Services
Canada, 2010.
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